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x2 RKRRIEHIFERE

(g/mol) | (kg/m”) | EEi® (4F4E) | 3EBR
S5 Hydrogen 2.0 0.02 |296 272
&5 Helium 4.0 0.04 |179 165
S Neon 20.4 0.19 |82 75
# S Nitrogen 28.0 0.28 |80 73
;= Argon 39.9 0.44 |57 52
£ 5 Krypton 93.8 1.08 |39 37
@S Xenon 131.0 [2.74® |31 28
FFIE Freon 12 121.0 1|0.98 46@ 37
758 Freon 14 88.0 0.96 |55 45
FH % Methane 16.0 0.19 114 105
S Ammonia 17.0 0.60 105 96
AKE propane 44.0 1.97 76 68
T butane 58.0 259 |69 62
—& L =& Nitrous Oxide|44.0 2.05 |67@ 61
— S {¢#e Carbon dioxide [44.0 Liquid |67 61

. QOFERA 24.14MPa, BEHN 273K; @iBEH 298K, EZEEMHT Pa=0Pa;
ORIFERIE 13.80MPa TNofE, UG KHEHFISMFENKRELL; @OERE 311K, mFAEkA 100.
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MFEE 71 30Mpa

HEHES R T{EIRE /4 40°C, LE#fEk k=1.659
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F =0.005Ns/0.02s =0.25N
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k+1

2(k—1
sM,)=2- 1| 2 (1+u|v| j " 100, Ma=10.2823
A M, | k+1" 2

i+ 8158 Pe/Pc=0.0001222, t+E& LLidAYIRIIE:

| =u=\/k2—klRT [ —(P/PC)%}

= J(2*1.659* 2077 * (40 + 273.15)/0.659)(1— 0.000122°%1-55)

=1809m /s
SEBRBI EL iR K4 AR {ERI 00% LR, 497 1629m/s.
FrEaz S EEfA UM RPER:
m =5000/1629 = 3.07kg
MFE Sk AT LUTEfE 3.07kg BY AR 0.3kg X ERABR
KEAT LU EHIEHER:

* *
V - mRT _ 3.37*2077*313.15 _ 0.073m°
P 30,000,000




